GREEN LEAF
& 31 13

HGH-CA/HGH-HA

GREEN LEAF
& %1 15

r
=
K D
22 MBI —=——]] 0
- /] = K o
=
[ | [ | } m
Linear Guid 5 o ]| £
G L
Kz L4
= - .—‘ T
o0 affy] ¥ ¢ G
JAO ] B ===
| - . L
HCE. —
E P

i hE

BRRT Rated Moment

www.zjgreenleaf.com

L
Model No

28

44

48

60

70

86

100

126

HGH15CA 43 95 34
HGH20CA

30 46 12
HGH20HA
HGH25CA

40 55 125
HGH25HA
HGH30CA

45 6 16
HGH30HA
HGH35CA

55 7.5 18
HGH35HA
HGH45CA

70 9.5 205
HGH45HA
HGHS55CA

80 13 235
HGHS55HA
HGHG5CA

90 18 315
HGHB5HA

Note : 1kgf=9.81N

26

32

35

40

50

60

75

76

4 286

6.5

12.5

25

36

50

35

50

40

60

50

72

60

80

75

95

0

120

Dimensions of Black ( mm )

394 614 10 485 53
50.5 775 1225

6 12
652 922 126
58 84 16.8

6 12
78.6 1046 19.6
70 974 2025

8 =12
93 1204 21.75
80 1124 206

T |5
105.8 1382 225
97 1394 23

10 129
128.8 171.2 28.9
117.7 166.7 27.35

11 129
155.8 204.8 36.4
144.2 200.2 431

14 129
203.6 2506 47.8

M4 x5

Mé4x6

M4x8

M4x10

M4x12

M4=17

M4218

M4220

6 795 T
8 6 6
8 10 8
85 9.5 138
102 16 196
15 185 305
175 22 29
25 18 15

20 175

23 22

28 26

34 29

45 38

53 44

B3 53

9.5

20

23

26

53 45
85 6
9 ¥
12 9
12 9
17 14
20 16
22 18

60

60

80

80

105

120

150

20

20

20

20

22.5

30

35

Bolt for
EI

M4=16

M5=16

ME=20

MBx25

MBx25

M12x35

M14x45

M16x50

11.38

17.75

21.18

26.48

32.75

38.74

42.27

49.52

60.21

77.57

94.54

114.44

139.35

163.63

208.36

16.97

27.76

35.90

36.49

49.44

5219

69.16

69.16

91.63

102.71

136.46

148.33

196.20

215.33

303.13

0.27

0.35

0.42

0.56

0.66

0.88

1.16

1.54

1.98

263

3.69

4.88

6.65

9.38

0.10

0.20

0.35

0.33

0.57

0.53

0.92

0.81

1.40

1.55

2,68

2.64

4.57

4.27

7.38

www.zjgreenleaf.com

0.10
0.20
0.35
0.33
0.57
0.53
0.92
0.81
1.40
1.55
2.68
2.64
4.57
4.27

7.38

2

0.30

0.39

0.51

0.68

0.88

1.16

1.45

1.92

273

3.61

4.17

5.49

7.00

9.82

221

321

447

6.30

10.41

15.08

21.18



2

GREEN LEAF GREEN LEAF
1% 2 15 & 3 19
HGW-CA/HGW-HA HGW-CC/HGW-HC
K K1 —
= =3
2 © 9 8] D 2
@) )
= &
o & @ o @ a
) ®
= =
< <
A3 ) D &)
W = Kz I|:1 ||:1 ]
aM —~ B B ] & aM—_ B c i
s £ s 8
el S T S e i el Zl FT T
1t | o i el LT

T,

g

:".‘: T :. i @_il

Hr

1

BREE | AW WA BiFEHE ER BERST
4 o R <t T b ; " s Ne EHER .
- _gg}:h 5 BRRT BERT | Basic Bams Static Rated Moment Weight Dimensions EART B
imensions of . . o N Mounting | Dynamic | Static . X - 2 . e - & Muunlmg Dynamic
il i \ Dimensions of Black ( mm ) He of Assembly Dimensions of Black ( mm ) Dimensions of Rail { mm )
’ Assembly( mm ) Bolt for Lnsd Load (mm ) Bolt for Load
Model No. Rail Rating Model No. Y | Rail | Rating
Gl T e T el e L LT

HGW15CA 24 16 47 45 30 396 614 485 53 M5 89 395 37 75 53 45 80 20 M4X16 11.38 1697 0.12 : K 017 145 HGW 15CC 24 43 16 47 38 45 30 394 614 485 53 M5 B9 695395 37 15 15 75 53 45 60 20 M4X16 11.38 1697 0.12 010 010 017 145
HGW20CA 50.5 775 10.25 17.75 27.76 027 020 020 040 HGW 20CC 50.5 775 10.25 17.75 27.76 027 020 020 040

3D 46 215 €3 53 5 |40 6 12 M6 8 10 6 6 20 175 95 85 6 860 20 MSX16 221 30 46 215 63 53 5 40 8 d2| M6 B8 10 85 6 & 2004755585 B 6020 MSX1B 221
HGWZ20HA 652 922 1786 21.18 3590 035 035 0.35 052 HGW 20HC 882 922 176 2118 3590 035 035 0.35 052
HGW25CA 58 84 118 26.48 3649 042 042 033 059 HGW 25CC 58 84 118 26.48 3649 042 033 033 059

46 65235 70 57 65 45 6 12 MB 8 14 86 5 23 22 11 9 T B0 20 MEX20 3.21 36 5.5 235 70 57 65 45 6 122 M8 8 14 10 6 5 23 22 11 9 7 60 20 MEX20 3
HGW25HA 786 1046 221 3275 4944 056 056 057 0.80 HGW 25HC 78.6 1046 221 3275 4944 056 057 057 0.80
HGW30CA 70 974 14.25 3874 52119 066 066 053 1.09 HGW 30CC 70 974 1425 3874 5219 066 053 053 1.09

42 & 31 80 72 8 52 6 12 M10 85 16 65 108 28 26 14 12 9 B0 20 MBX25 4.47 4208\ 31 80 |72 8 | 52 6 12 M10 85 16 10 65 10.8 28 26 14 12 9 80 20 MBX25 4.47
HGW30HA 93 1204 25.75 47.27 69.16 088 088 0.92 144 HGW 30HC 93 1204 25.75 47.27 69.16 088 092 092 144
HGW35CA 80 1124 146 49.52 69.16 1.16 1.16 0.81 1.56 HGW 35CC 80 1124 146 4952 69.16 1.16 081 081 156

48 75 33 100 82 9 62 7 12 M10101 18 9 126 34 29 14 12 9 80 20 Mex25 6.30 48 7.5 33 100 82 9 62 7 12 M10 101 18 13 9 126 34 29 14 12 9 80 20 MBX25 6.30
HGW35HA 105.8 138.2 27.5 60.21 9163 154 1.54 1.40 2.06 HGW 35HC 105.8 138.2 27.5 60.21 91.63 154 1.40 140 2.06
HGW45CA 97 1384 13 7757 10271 1.98 1.98 186 279 HGW 45CC 97 1394 13 78T 10271 198 1.55 1.56 279

60 85 375 120 100 10 80 10 129 M12 151 22 85 205 45 38 20 17 14 105 225 M12X35 10.41 60 9.5 37.5 120 100 10 80 10 129 M12 151 22 15 85 205 45 38 20 17 14 105 225 M12X35 10.41
HGW45HA 1288 171.2 289 94.54 13646 2.63 83 268 369 HGW 45HC 128.8 171.2 289 9454 13646 263 268 268 369
HGWS5CA 117.7 166.7 17.35 114.44 14833 369 3.689 2.64 452 HGW 55CC 117.7 166.7 17.35 11444 14833 3.69 264 2.64 4.52

70 13 435 140 116 12 95 11 129 M14 175 265 12 19 53 44 23 20 16 120 30 M14X45 15.08 70 13 435 140 116 12 95 11 129 M14 175 265 17 12 19 53 44 23 20 16 120 30 M14X45 15.08
HGWS5HA 155.8 204.8 36.4 139.35 196.20 4.88 4.88 457 596 HGW 55HC 155.8 204.8 36.4 139.35 196.20 4.88 4.57 457 596
HGWBESCA 144.2 2002 231 163.63 21533 6.65 6.65 427 817 HGW 85CC 1442 200.2 231 163.63 215.33 6.65 4.27 427 9417

90 15 535 170 142 14 110 14 129 M16 25 375 15 15 63 53 26 22 18 150 35 M16XS50 21.18 80 15 535 170 142 14 110 14 129 M16 25 375 23 15 15 63 53 26 22 18 150 35 M1EBX50 21.18
HGWB5HA 203.6 2596 52.8 208.36 303.13 9.38 938 7.38 12.89 HGW B5HC 203.6 259.6 52.8 208.36 303.13 9.38 7.38 7.38 12.89
Note : 1kgf=9.81N Note : 1kgf=9.81N

3 www.zjgreenleaf.com www.zjgreenleaf.com 4




Aemaping Jeaulq

EGH15S8A

EGH15CA

EGH20SA

EGH20CA

EGH258A

EGH25CA

EGH30SA

EGH30CA

EGH358A

EGH35CA

G

GREEN LEAF
3

3

28 6 1 42 32 6

33 7 125 48 35 65

48 1" 18 70 50 10

Note : 1kgf=9.81N

5 www.zjgreenleaf.com

32

35

40

50

EGH-SA/EGH-CA

= B

2341

39.8

29

481

355

59

415

70.1

45

78

401 14.8

35 &7
56.8 1015
50 1875

4.15 12
69.1 123
59.1 219

455 12
826 16.15
695 26.75

6 12
98.1 21.05
75 285

T |42
108 20

M4XE

MSXT7

MBXS

MBX12

MexX12

7.5

5.5

8.5

8.5

GEH-CA

15

20

23

28

34

ok

Dimensions of Rail { mm }

12.5

15.5

23

27.5

6 45 35

9.5 B8
11 8
A1 B
14 12

60

60

60

a0

80

20

20

20

20

20

BERT

Bolt for
Rail

M3X16

M5X16

MBX20

MBX25

MBX25

GEH-SA

k]
B
Static |
Load
Rating

Load
Rating

5.35 9.40
7.83 16.19
7.23 12.74
1031 2113
1140 19.50
16.27 3240
1642 2810
23.70 4766
2266 3738
3335 64.84

BiF# DE

Static Rated Moment
MR MP

kN-m
0.08 004 0.04
0.13 010 0.10
013 0.06 0.06
0.22 0.16 0.18
0.23 0.12  0.12
0.38 0.32 0.32
040 021 021
068 055 0.55
056 031 031
098 0.69 0.69

4
Weight

0.15

0.15
2.08
0.24

0.25
2.67
0.41

0.45
4.35
0.76

0.66
6.14
1.13

EGW 155A

24 45 185
EGW 15CA
EGW 208A

28 B 195
EGW 20CA
EGW 258A

33 7 25
EGW 25CA
EGW 305A

42 10 31
EGW 30CA
EGW353A

48 11 33
EGW35CA

59

73

90

Note : 1kgf=9.81N

49

60

72

82

6.5

32

35

40

50

EGW-SA/EGW-CA

GREEN LEAF
# 51 #8

b3

Dimensions of Black { mm

48.1

35.5

59

61.5

701

45

78

56.8 10.15

50

69.1

59.1

1875

12.3

218

826 16.15

69.5 26.75

98.1 21.05

7%

108

285

20

4.15

4.55

12

12

M6

ma

M10

M10

7.5

10

8.5

8.5

20

23

28

34

Dimension:

125

G L
Kz L4
5 c
_——4-M
20 IR
| 1 J
mz——IY
X
d GEW-CA
E P

6

155 9.5

18

23

275

1

11

14

kS

s of Rail (

45 3.5

85 6

mm )

80

80

60

80

80

20

20

20

20

20

BREE
BERS

Mounting

Bolt for
Rail

M3x16

M5x16

MEx20

MEx25

MBx25

5.35

7.83

T7.23

10.31

11.40

16.27

16.42

23.70

22.66

33.35

MR

\ | kN-m
940 0.08 0.04
1679 0.13 0.10
1274 0.13 0.086
2113 022 D16
18.50 0.23 0.12
3240 038 032
28.10 040 0.21
4746 0.68 0.55
3738 056 031
6484 098 069

www.zjgreenleaf.com

0.06
0.16
0.12
0.32
0.21
0.55
0.31

0.69

6

0.12

0.21

0.19

0.32

0.35

0.58

0.62

1.04

0.84

1.45

1.25

2.08

2.67

4.35

6.14

Aemaping Jleaul




— I
GREEN LEAF GREEN LEAF
% 51 6 & 51 3k
MGN-C/MGN-H MGW-C/MGW-H
MGN5
i B g G ‘ I[ MGW7, MGW9, MGW12 I
= 2 =] Jg’f‘ : - - . =
= £ It i %t _7/:/ H IT‘ j:ﬂ s EE= 4-Mxl— B1| \g -G IE:' 2
é). ' lt ‘ E c))Id P ‘ | B Ii 23} LF ; 4 ' ?2 =T L!’; = ?
. FES oy 4E AL = =
= ] ‘ | ed_ =
5 N Wha B P | == V)
= <
MGW15
L c L -
Ls
4-Mxl—. C
20 =iy qE; ™ 0
2 o = ==
s fr ¥ /_/W}_ — T
s |
= P | B

=¥ vVl= (& &

s |

R
Weight

BiFE DE

Static Rated ment

AR
Dimensions of
Assembly ( mm )

BRMRAT i
Dimensions of Rail ( mm )

o e Mounting
Dimensions of Black ( mm ) Bolt for

Fiil ] il { mm }

MY

Maodel No Model No.
kN-m
Lo [ Te oo To [ e Jo el loalo [ [a e [e | iom | oo
MGN 5C 8 15 35 12 8 2 96 18 - 0.8 M2X15 1 5 38 36 08 24 15 5 M2X6 054 084 2 13 1.3 0008 015 MGN 5C 13 2z - M2.5X1.5
65 15 35 17 11 205 - 008 . 1 10 - 4 55 16 3 20 5 M2s5%7 068 118 55 27 27 0016 034
MGN 7C 8 135 225 098 124 470 284 284 0010 MGN 5CL - - B5 THRU
8 1.5 5 17 12 25 - o2 M2X25 15 T 48 42 23 24 15 5  M2X6 0.22
MGN 7H 13 218 308 137 196 766 480 480 0015 MGN 7C 0 21 32 137 206 1570 714 714 0020
9 19 &5 225 191 3 - 12 M3X3 185 14 - 52 6 32 35 30 10 M3X6 0.51
MGN 9C 10 189 289 186 255 1176 7.35 7.35 0.016 MGN 7H 19 308 M 177 314 2345 1553 1553 0.029
10 2 55 20 15 25 - ®14 M3X3 18 9 65 6 35 35 20 7.5 M3xX8 0.38
MGN 9H 16 299 399 2.55 402 1960 1862 18.62 0.026 MGN aC 21 45 12 275 393 275 412 4012 18.96 18.96 0.040
12 28 6 30 - @®12 M3X3 24 18 - 7 6 45 35 30 10 M3x8 0.91
MGN 12C 15 217 37 284 392 2548 1372 1372 0034 MGN 9H 23 35 24 385 507 343 589 5454 3400 34.00 0057
13 3 75 27 20 35 - o2 M3X35 25 12 8 6 45 35 25 10 M3X8 0.85
MGN 12H 20 324 454 3.72 588 3822 3626 3826 0054 MGN 12C 15 313 481 392 559 7034 2780 27.80 0.07
14 34 8 40 28 6 - ©12 M3X36 28 24 - 85 8 45 45 40 15 M4X8 1.49
MGN 15C 20 287 424 481 550 4508 2156 2156 0.059 MGN 12H 28 456 604 510 824 10270 57.37 57.37 0.103
16 4 85 32 25 35 45 M3 M3X4 3 15 10 6 45 35 40 15  M3X10 1.06
MGN 15H 25 434 588 637 911 7350 57.82 57.82 0.092 MGN 15C 20 38 548 877 922 199.34 5666 56.66 0.143
16 34 9 ‘680 45 75 52 M3 M4X42 32 42 23 95 8 45 45 40 15 M4X10 2.86
Note : 1kgf=9.81N MGN 15H 35 57 738 893  13.38 299.01 122.60 12260 0.215
Note : 1kgf=9.81N
= www.zjgreenleaf.com www.zjgreenleaf.com 8



	样册2020.11.17_4
	样册2020.11.17_5
	样册2020.11.17_6
	样册2020.11.17_7

